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The Problem
The Mauritian lotto is a lottery game with a combination of 6 balls randomly selected out of 40 to
determine the winning combination. There are fewer combinations played each time than
possible combinations. Playing a big amount when the jackpot is high enough may create a
risk-reward asymmetry.

The numbers are irrelevant. Our solution is to find when to play and by how much.

The Game
Let’s have a look at the rules and regulations
https://loterienationale.mu/sites/default/files/RULES%20AND%20REGULATION%202016.pdf

https://loterienationale.mu/sites/default/files/RULES%20AND%20REGULATION%202016.pdf


There are 4 winning categories with the following prize allocations.





We can already make an assumption here: We can ignore rules G:iv:c and d because of the low
likelihood of them taking place. In our model, there are always at least one Match 5 and Match 4
winners, respectively.

Let’s look at a concrete example.
https://www.loterienationale.mu/fr/tirages-et-archives?field_date_du_tirage_value%5Bvalue%5D
%5Bdate%5D=23+Dec+2017

For the draw on 23rd of December 2017, the jackpot was Rs 12 million

A total of Rs 34744200 was played.

https://www.loterienationale.mu/fr/tirages-et-archives?field_date_du_tirage_value%5Bvalue%5D%5Bdate%5D=23+Dec+2017
https://www.loterienationale.mu/fr/tirages-et-archives?field_date_du_tirage_value%5Bvalue%5D%5Bdate%5D=23+Dec+2017


Here’s a summary of the games played in December 2017 and January 2018

Hypotheses
Let’s look at some more recent numbers since now the game runs both on Wednesdays and
Saturdays.

We can already come to some conclusion:
● More people play on Saturdays compared to Wednesdays
● The average played for a draw has gone down since it has been done twice a week
● More people will play during the holiday seasons
● More people will playy if there is a huge addition in the jackpot
● More people play as the jackpot increases

Our first rule should be two play on Wednesdays.

Let’s see how much more money on average is played on Wednesdays.

It is about 6% more, which is not much but can still be useful.

We need to find the correlation between amount played and jackpot



The Total Played is roughly:
0.5*Jackpot + 15 million MUR

Total played ≅ 0.5 X Jackpot + 15 million

We have two rules so far:
1. Play as far as possible on Wednesdays
2. The total amount played formula

Can we find a correlation between amount played and total amount gained (ex-jackpot)



The ex-Jackpot prize is about 0.1*jackpot + 4 000 000

Ex-Jackpot Prize ≅ 0.1 X Jackpot + 4000000

Out of curiosity, let’s have a look at the correlation between total amount played and ex-jackpot
prize



Beautiful correlation between amount of money won as people play

Why are we not including the jackpot in the formula?

It is an unlikely event and what we are aiming for is not win the jackpot but find the amount of
money necessary to play to have a high probability of breaking even on the ex-jackpot prizes.

Let’s see the average wins per trial for M4 and M5. We will look without M6 first.



With M6, the data is skewed.

The average M5 win is 10000



The average M4 win is 500.

There doesn’t seem to be a correlation between average wins and jackpot



Probbaly it is because of the difference in size of the data in the x and y axes.

More people playing doesn’t mean that the cake will be shared with more people as the size of
the cake itself increases.

Therefore, playing on a Wedneasday doesn’t really have that much of an effect.

What affects the game also are the numbers played. Some numbers are more likely to occur.
People have favorite numbers in the single digits. People use numbers less than 31 for their
birthdays. All of this is random and we cannot really do anything about it.

How to Play

The odds of winning are as follows

These are based on a hypergeometric distribution.

Let’s ignore M6 for now

Let’s focus on breaking even with M3, M4, and M5.

There are some quick ways of playing this game that we should consider
https://loterienationale.mu/sites/default/files/multiple_brochure.pdf

https://loterienationale.mu/sites/default/files/multiple_brochure.pdf




Winning the loto uses a hypergeometric distribution
https://en.wikipedia.org/wiki/Hypergeometric_distribution

Luckily for us, a Romanian mathematician, Stefan Mandel, already worked on this and won
https://www.bursa.ro/industria-de-gambling-iulie-1994-primul-si-singurul-interviu-din-presa-roma
neasca-stefan-mandel-omul-care-a-zapacit-loteriile-67569513

https://thehustle.co/the-man-who-won-the-lottery-14-times

We will try to apply his findings to our situation.

We will use this calculator to help us
http://www.lottogenie.com/cgi-bin/odds.cgi

From what we can see, the expected returns on any of the prizes other than the jackpot are low
and consequently using this strategy to break even will be a bad idea.

It does make sense to play when the jackpot is big enough for the asymmetric risk-reward.

But how much?

Mandel’s strategy of buying all the combinations and only playing when the jackpot was at least
3 times the price of all combinations is based on technical diffiuclties such as paying investors
and logistics.

In our case, we are not playing all the numbers but we can consider combinatorial
condensation, that is, not playing numbers that are too “beauttiful” such as 1-2-3-4-5-6.

My suggestion is to make use of a combination of the 12 multiples and 4 multiples games to
cover all the 40 numbers and avoiding as much as possible “beautiful” combinations.

Let’s look at an example.

Our first set of 12 numbers are 4-7-12-16-17-23-25-27-33-34-36-40
Next we play a set of 4 numbers: 1-18-21-30

We are certain that all the combinations generated from the 4 numbers + the two random will be
different from our first game.

We make another selection of 12 numbers 2-3-8-14-19-20-24-28-31-32-35-38

The remaining 12 numbers are the last game: 5-6-9-10-13-15-22-26-29-37-39

https://www.bursa.ro/industria-de-gambling-iulie-1994-primul-si-singurul-interviu-din-presa-romaneasca-stefan-mandel-omul-care-a-zapacit-loteriile-67569513
https://www.bursa.ro/industria-de-gambling-iulie-1994-primul-si-singurul-interviu-din-presa-romaneasca-stefan-mandel-omul-care-a-zapacit-loteriile-67569513
https://thehustle.co/the-man-who-won-the-lottery-14-times
http://www.lottogenie.com/cgi-bin/odds.cgi


The total cost for this game is Rs 68040 for a total of 3402 combinations.

This represents 0.25% of the total played in a draw.

This should be preferably be done with a random number generator.

Any of the jackpots are big enough to offset the speculation but it is recommended that it is
attempted when the jackpot reaches a very big amount, let’s say Rs 50 000 000.

Let’s look at some examples if we had any successes with such a combination.

For the last game: 6-9-18-30-31-37 was the winning combination and the best win was an M4 at
Rs 570. Bad investment.

In general, this game is not recommended at all.

A better game?

The corporation also provides a 7-from-28 game.
https://www.lottotech.mu/wp-content/uploads/2022/09/Rules-and-Regulations.pdf

Let’s look at the rules and then, we will compare the two games.

https://www.lottotech.mu/wp-content/uploads/2022/09/Rules-and-Regulations.pdf


For this one, there is no known jackpot from the begining. It depends on the amount played,
although for the last game, they fixed it at Rs 5 million because of new year.



There is a guranteed jackpot of $ 1million.

The rollover is not to the jackpot of the following weeks but to the lower prizes.

It is to be noted that this game costs Rs 30 instead of Rs 20.

Let’s look at some examples.

Here the jackpot is dependent on the amount played,

The chart doesn’t make much sense as the jackpot is the dependent variable.

Let’s compare the probability of winning of the two games side by side.



It is certainly easier to win this game.

And even winning M6 can be worth it as in most cases, M7 is not won and the jackpot is rolled
down.

The M6 gains are considerable, unless M7 is won.



The average gain for M6 is about Rs 60 000 including jackpot going to M7.

For M6, it is about Rs 650.



Let’s compare the two games with expectations.

We did not consider the first prizes.

The expected losses are much lower in the 28/7 games.

If let’s say we are playing the 40/6 game if the jackpot is Rs 50 million.

In the first game, the jackpot is everything.

But it is very unlikely that you win it if you play with little money.

Playing the 28/7 Game
This one too offers multiple games.
https://www.lottotech.mu/jeux-multiples/

https://www.lottotech.mu/jeux-multiples/




Let’s use the same concept as before wiht a combination of the 12 and 5 games.

This time we use a random generator.

1-3-4-6-8-9-10-15-16-17-18-19-22-25

Then, we select 5 numbers: 2-7-12-13-27

We have 11 numbers remaining. There is one which will fall in two sets. Choose any one and
consider it your lucky number.

You can have other combinations to have all the 28 numbers but this one increases the number
of different number combinations.

And the remaining 12 numbers: 5-11-14-15-20-21-23-24-26-27-28

The total cost of the game is Rs 43350 with 1445 games.

This represents about 0.5% of total played each week with the 0.12% of the possible
combinations.

You have about twice access to the game with less money speculated and higher probability of
winning.

If you speculated the Rs 68040 from the 40/6, it is about 0.8% of the total played.

Let’s look at some examples of the above combination.

Last game, you would have won an M4, a mere Rs 100.

This game is better than the 40/6 but it is only speculation.



Conclusion

● Playing either game is speculation and should only be done with money that one can
afford to lose

● Playing the 28/7 game is much better than the 40/6
● The aim should not be on the jackpot as the smaller gains can be worth it too.
● There are way to increase the odds of winning like not choosing “beautiful” combinations

and trying to play as many different numbers as possible.
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